leps. npumeH.

Cnpas. Ne

lMoon. u dama

WHe. Ne dy6n.

B3sam. uHe. Ne

lMoon. u dama

a1 | Kanarn 1

Vee

D1

out?

IE
AN

hd LT Q1

<+ Visen

K1

A1,A2 - AHof cBeTous/iydaroljero
Anoaa,

A2 | Karan 1

K1,K2 - Karog ceeroussyyaloljero
Anoha,

PWR - BbiBog nutarHus,

GND - Obuymii BbIBO/,

OUT1, OUT2 - Beixoa.

Vee

Dot w_ we
A4 -

| S| Q2

V2sen
@- I:I Ro1

K2

out2
o]

SUBCKT 249LP10R A1 K1 VCC COM OUT1 A2 K2 oUTZ2
D1A1LLED

VisenL K10

W Wi in1 VCC Visen W1

W W2 in1 VCC Visen W2

W W3 in1 VCC Visen W3

W W4 in1 VCC Visen W4

W _W5 in1 VCC Visen W5

R1 COM in1 7.5k

Q1 OUT1 in01 COM NPN1

rel inl in01 800

CPR1 K1 in01 3p

D01 A2 L1 LED

V2sen L1 K2 0

W_Weé in2 VCC V2sen W1

W W7 in2 VCC V2sen W2

W_W8 in2 VCC V2sen W3

W W9 in2 VCC V2sen W4

W _Wi10 in2 VCC V2sen W5

RO1 COM in2 7.5k

Q2 OUT2 in02 COM NPN1

re2 in2 in02 800

CPR2 K2 in02 3p

.MODEL NPN1 NPN (BF=2)

.MODEL W1 ISWITCH (Roff=1000k Ron=20k IT=0.2m Td=200n)
.MODEL W2 ISWITCH (Roff=1000k Ron=1k IT=0.5m Td=200n)
.MODEL W3 ISWITCH (Roff=1000k Ron=100 IT=0.8m Td=200n)
.MODEL W4 ISWITCH (Roff=1000k Ron=50 IT=1.1m Td=200n)
.MODEL W5 ISWITCH (Roff=1000k Ron=1u IT=2m Td=200n)
*transfer simulation

.MODEL LED D (15=0.0000005203f N=1.1204049 RS=1.35 BV/=6 IBV=10U EG=1.7)

.ENDS
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[posep.
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